


1984 9 1 1999 9 9

36

89 1,800



50

40

50

180

IADL

ADL




ST)
ST)

28

0.1

ST)

(@)

(b)

30



QOL IADL

80%



64

160
140

120 +
100 A
80 A
60 A
40 -
20 A

N=232(2t5H) N=265([E1{EHA) N=63(HfiFHi/ #&3®)
N=66(4}3)N=20(5h )

= 55t/ HABRHR T 26 EIE R Tk

m 55t/ RESR T A R R

=55t/ Ehr R THES

S5/ T E R MRS F B (C TR

"S5/ B hESR AR T S HN

"EET/ BEERTIRT

(F>)Eredk

(§F > Eri D]

e "EE/ N ERRERFIALTRT

(G >l / e

sl |

I;J:l} =&t/ BURERFIACTRT

B

it/ BIREICEHFINEL
m 55t/ ZD1h3
= &5t / R4

28




o1

Soft

Hard

ST 1 1

ST

28



